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Aufgabe 1

Berechne.

a) 792− 50 b) 178− 50 c) 387− 70 d) 963− 20
e) 276− 70 f) 369− 50 g) 532− 10 h) 752− 40
i) 894− 80 j) 644− 20

Aufgabe 2

Berechne.

a) 481− 300 b) 450− 200 c) 528− 300 d) 877− 300
e) 375− 100 f) 318− 200 g) 633− 200 h) 548− 300
i) 919− 400 j) 388− 200

Aufgabe 3

Berechne.

a) 6600− 600 b) 9500− 400 c) 4800− 300 d) 7800− 600
e) 8500− 500 f) 2500− 300 g) 6900− 800 h) 1900− 800
i) 3700− 600 j) 8800− 800

Aufgabe 4

Berechne.

a) 24500− 400 b) 82900− 800 c) 98800− 100
d) 85600− 400 e) 75500− 200 f) 55700− 100
g) 92600− 400 h) 31700− 500 i) 49700− 700
j) 41800− 800

Viel Erfolg!
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